Let (W, S) be the affine Weyl group of type B, with diagram and weight function
given by

a b c
S1 52 S3

where a,b,c € N. We may assume that a > ¢. We set 1 = a/c and ro = b/c. We
define the following subset of R2.
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r1=a/c

Then working out the partition of By we obtain the following partition into
cells.



(r1,79) € Boand r; =1



(TlaTQ) S Bl N B2 and r = 1



(r1,79) € Byand r; =1



(r1,7m2) € Bo



(7‘1,7“2) € BN By



(r1,m2) € By




(7‘1,’/‘2) € Bi1NAy



(1“1,7‘2) c A4



(r1,m2) € A3N Ay



(r1,m2) € As



(r1,72) € Ao N A3



(r1,m2) € Ao



(r1,m2) € A1 N Ay



(1“1,7‘2) c A1




(r1,m2) € Ay N As



(r17T2) S A5



(7‘1,7‘2) e C1NA;s



(7"1,7“2) cCiNCyNAyNA;s



(r1,72) € Ao N A5



(7“1,7“2) S A2 ﬁAg N Ay ﬂA5



(r1,72) € CaN Ag



(7“1,7“2) c(ConNC3NAINA;



(7‘1,7‘2) e AiNCy



(7‘1,7‘2) S C3



(r1,m2) € C2NC3



(7‘1,7“2) S CQ




(7‘1,T2) e C1NCy



(7‘1,7“2) S Cl




(r1,72) € Cy and 1 =1



ri=1land ro =1



